Eugen Suchon

AKA SI MI KRASNA

pre Stvorhlasny spevacky zbor
a symfonicky orchester

Arr. Milos Betko, 2014
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Arr.: 2014, Milos Betko (*1964)

HUDBA: 1932, Eugen Suchon (1908 — 1993)
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TEXT: 1897 (Navrat), Peter Dobroslav Bella — Horal (1842 — 1919)

13 1| & 1| & STe1 el “Ferrel leN “Terrel L= e e 1| &, IESeN
1) el el e T » el [ ' ' ' el S el S Me S el S el §
il Tl 3 - - 3 8 )
LN =R [ = NN el fk J_f\ Blog 1N o “ I R | w >[..V/f BERES Z 1080 ﬁ Z VreJ m_ﬂ“muvﬂ _.vV,meJ E5aN ﬂ
[EEE m [ [N L R
vE T s
1 1 1 1 1 1 1 1 g ] 2 m f [ 1 1 1 1 1 1 1
Ew/ S W/ BRI O
=]
g £
| 4|
AN AN N
9 ) P A o P N e 228 N o F F F N2 NP G- oNp NP R £ o N,
" § X " § e . | . | .
(o] (o)} (gl =] g o <+ [q\] o on S m — m 2 (o] m =2 o @2 ] w = « “ = 2] @ @n
3 z = = u = 3 2E Z Z22 Z3E? ZZ = £ 2 2 3 3
2 g & Z Z = = & 2 2 E S0F BESE 2E & > c > I £ = 2 3
L T I ST = 5 s g > s
g £ s S z 5 = o® T f g 3 S = 5 = S
‘g = <4 ~ 3 [~ @)
5 © £ o m & o =
) = o~ & g o~ ©
= wn

Ver. 09/06/2016



